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#Q.  In an AP, 𝑻𝒎 =
𝟏

𝟐𝟓
, 𝑻𝟐𝟓 =

𝟏

𝟐𝟎
 𝒂𝒏𝒅 𝟐𝟎 σ𝒓=𝟏

𝟐𝟓 𝑻𝒓 = 𝟏𝟑, then 5m σ𝒓=𝒎
𝟐𝒎 𝑻𝒓 equals 
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#Q.  If 𝒂 = 𝟏 + σ𝒏=𝟏
𝟔 −𝟑 𝒏−𝟏. 𝟏𝟐𝑪𝟐𝒏−𝟏,

 then distance of point 𝟏𝟐, 𝟑  from the line 

𝒙 − 𝟑𝒚 + 𝟏𝟎𝟎 = 𝟎 𝒊𝒔
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#Q.  If 𝟐𝒂𝒏+𝟐 = 𝟓𝒂𝒏+𝟏 − 𝟑𝒂𝒏, where 𝒏 = 𝟎, 𝟏, 𝟐, … 𝑰𝒇 𝒂𝟎 = 𝟑 𝒂𝒏𝒅 𝒂𝟏 = 𝟒, then the 

value of σ𝒌=𝟏
𝟏𝟎𝟎 𝒂𝒌 is equal to 
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𝟑𝒂𝟏𝟎𝟎 − 𝟗𝟏 
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#Q.  Let 𝒌𝟏 𝒂𝒏𝒅 𝒌𝟐 be two randomly selected natural members. The probability 

that 𝒊 𝒌𝟏 + 𝒊 𝒌𝟐 is non-zero is 𝒘𝒉𝒆𝒓𝒆 𝒊 = −𝟏
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#Q.  In ∆𝑨𝑩𝑪, 𝑨 𝟒𝒔𝒊𝒏𝜽, 𝟒𝒄𝒐𝒔𝜽 , 𝑩 −𝟐𝒄𝒐𝒔𝜽, 𝟎  and 𝑪 𝟐, 𝟐𝒔𝒊𝒏𝜽 . If locus of centroid is 

𝟑𝒙 − 𝟐 𝟐 + 𝟑𝒚 𝟐 = 𝜶 then 𝜶 is 
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#Q.  Let 𝑬𝟏:
𝒙𝟐

𝟗
+

𝒚𝟐

𝟒
= 𝟏 be an ellipse and a series of ellipse are drawn that 𝑬𝒊+𝟏 has 

same centre eccentricity as 𝑬𝒊 𝒂𝒏𝒅 𝑬𝒊+𝟏’s major axis is minor axis of 𝑬𝒊. If 𝑺𝒊 

be the area of 𝑬𝒊, then 
𝟓

𝝅
σ𝒊=𝟏

∞ 𝑺𝒊  is equal to 
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#Q.  Let 𝒇 𝒙 = ቐ
𝟐𝒙,

𝟏 + 𝒙 + 𝒙 , 𝟏 + 𝟐 𝒙 ,
𝟓, 𝒙 ≥ 𝟐

𝒙 < 𝟎
𝟎 ≤ 𝒙 < 𝟐. If 𝜶 is the number of points of 

discontinuity and 𝜷 is the number of points of non-differentiability, then 

𝜶 + 𝜷  is equal to (where [.] denote greatest integer function
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#Q.  Evaluate 𝒄𝒐𝒔 𝒔𝒊𝒏−𝟏 𝟑

𝟓
+ 𝒔𝒊𝒏−𝟏 𝟓

𝟏𝟑
+ 𝒔𝒊𝒏−𝟏 𝟑𝟑

𝟔𝟓
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#Q.  𝒛𝟏 = 𝟑 + 𝟐 𝟐𝒊 & 𝟑 𝒁𝟏 = 𝒁𝟐  𝒂𝒏𝒅 𝒂𝒓𝒈 𝒛𝟐 = 𝒂𝒓𝒈 𝒛𝟏 +
𝝅

𝟔
 then area of triangle 

with vertices 𝒛𝟏, 𝒛𝟐 and origin.
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#Q.  Let R be a relation such that 𝑹 = 𝒙, 𝒚 : 𝒙, 𝒚 ∈ 𝒁 𝒂𝒏𝒅 𝒙 + 𝒚  𝒊𝒔 𝒆𝒗𝒆𝒏 , then the 

relation R is 
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#Q.  Area of region 𝒙, 𝒚 : 𝟎 ≤ 𝒚 ≤ 𝟐 𝒙 + 𝟏, 𝟎 ≤ 𝒚 ≤ 𝒙𝟐 + 𝟏, 𝒙 ≤ 𝟑  
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#Q. The sum of squares of real roots of the equation: 𝒙𝟐 + 𝟐𝒙 − 𝟑 − 𝟒 = 𝟎, is 
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#Q. There are 2 bad oranges mixed with 7 good oranges and 2 oranges are 

drawn at random. Let X be the number of bad oranges. The variance of X is 
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#Q.  If 𝟎׬

𝒙
𝒕𝒇 𝒕 𝒅𝒕 = 𝒙𝟐𝒇 𝒙 𝒂𝒏𝒅 𝒇 𝟐 = 𝟑 , then 𝒇 𝟔  equals to 
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#Q.  If the image of the point 𝐏 𝟒, 𝟒, 𝟑  in the line 
𝒙−𝟏

𝟐
=

𝒚−𝟐

𝟏
=

𝒛−𝟏

𝟏
 𝑸 𝜶, 𝜷, 𝜸 , then 

𝜶 + 𝜷 + 𝜸  is equal to  
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#Q.  If 𝒇 𝒙 =
𝟐𝒙

𝟐𝒙+ 𝟐
, 𝒙 ∈ 𝑹, 𝒕𝒉𝒆𝒏 σ𝒌=𝟏

𝟖𝟏 𝒇
𝒌

𝟖𝟐
 is equal to 
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#Q.  Number of ways to form 5-digit numbers greater than 50000 with the use of 

digits 0, 1, 2, 3, 4, 5, 6, 7 such that sum of first and last digit is not more than 

8, is equal to 
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#Q.  If ׬−𝝅/𝟐

𝝅/𝟐 𝟗𝟔 𝒙𝟐+𝒄𝒐𝒔 𝒙

𝟏+𝒆𝒙 𝒅𝒙 = 𝜶𝝅𝟑 + 𝜷 (where 𝜶, 𝜷 are positive integers), then 𝜶 + 𝜷 

equal to 
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